790 Duke orange 2018 <2018><EU><F9603R6>
WIRING HARNESS
49757

@
@)~ ¢
.
Pos Part Number Description Additional Text Quantity
1 64111075000 main wiring harness 1.00
2 61111057000 RELAY CM1A-R-12V-H80 07 5.00
3 75011087050 RUBBER CASING FOR FUSE BOX 1.00
4 75011088010 FUSE 10A 07 0.00
5 61111018100 Temperatur sensor 1.00
6 64111197000 mass cable tank-frame 1.00
7 64111096000 mass cable starter-frame 1.00
8 64111097000 mass cable starter-battery 1.00
9 64111059000 starter cable 1.00
10 64111076033 rear harness cpl. 1.00
11 64111059050 battery cable 1.00
12 64111058010 Cover cap starter relay 1.00
13 0912060083 AH collar screw DIN 912 M6x8 2.00




14 58011109130 Plug-in fuse, big 30A 2.00
15 76211058000 Starter relay 1.00
18 64111060133 Direct current horn cpl. 1.00
19 0024060106 HH COLLAR SCREW M6X10 TX30 1.00
20 60311034000 VOLTAGE REGULATOR 1.00
21 0025060206S HH collar screw M6x20 TX30 2.00
22 60011093045 RUBBER CABLE TIE 45MM 03 0.00
23 44011076140 CABLE TIE 140/2,5MM BLACK 0.00
23 44011076200 Cable tie 200/4.6mm black 0.00
24 69011092000 Cable tie w. socket D=6.5 1.00
25 0025060126 HH collar screw M6x12 TX30 1.00
26 58411098100 CONTACT WASHER M6 VSV-K6 2.00
27 0025060166 HH collar screw M6x16 TX30 1.00




